= 35 Y =G E# e ‘mlﬁ-
RinER(EEREL) SREEBE
| i
A | 4B

FEBIERE AR l BN
ET 1% (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100|125 | 150 | 200
F21Z(mm) 6 6 8 10 | 12 | 16 | 20 | 20 | 25 | 25 | 35 | 40 | 50
sEEoEmE| A 113 | 201 | 314 [ 491 | 804 [1257 [ 1963 | 3117 | 5027 | 7854 | 12271] 1767131400
(mm?) |B| 85 | 173 | 264 | 412 | 691 | 1056 | 1649 | 2803 | 4536 | 7363 | 11309 1641529437
0q[Al_11 | 20| 31| 49| 80 | 126 | 196 | 312| 502| 785 | 1227| 1767| 3140
"'IBl 85| 17] 26| 41] 69| 106 | 165 | 280 | 453 736 | 1131| 1642 2944
0o/Al 23 | 40| 63 ] 98 [ 161 | 251 | 393 | 623 | 1005 1571 | 2454| 3534] 6280
““IB| 17 | 35| 53| 82 ] 138 | 211 | 330 | 561 | 907 | 1473 | 2262| 3283| 5888
0.3/Al 34| 60| 94 147 [ 241 | 377 | 589 | 935 | 1508 | 2356 | 3681| 5301] 9420
“IB] 25 | 52| 79| 124 | 207 | 317 | 495 | 841 | 1361 | 2209 | 3393| 4925| 8832
0.4/Al 45| 80| 126 | 196 | 322 | 503 | 785 | 1247 | 2011 3142 | 4908| 7068]12560
m | |B| 34| 69| 106 | 165 | 276 | 422 | 660 | 1121 | 1814 | 2945 | 4524| 6566|11776
fe |o5 Al 57 | 101 | 157 | 245 | 402 | 629 | 982 | 1559 | 2514 | 3027 | 6135| 883615700
B ["°|B| 42| 87| 132 | 206 | 346 | 528 | 825 | 1402 | 2268 | 3682 | 5655| 8208]14720
(Mjga) 0.6/A| 68 | 121 [ 189 | 294 [ 482 | 754 | 1178 | 1870 | 3016 [ 4712 | 7363]10603]18840
“IB| 51 | 104 | 158 | 247 | 415 | 634 | 989 | 1682 | 2722 | 4418 | 6785| 9849|17664
0.7/A[ 79 | 141 [ 220 | 343 [ 563 | 880 | 1374 | 2182 | 3519 | 5498 | 8589]12370|21980
""IB| 59 | 121 ] 185 | 289 | 484 | 739 | 1154 | 1962 | 3175 | 5154 | 7916|11491]|20608
0.g/Al_90 | 161 | 251 [ 393 [ 643 | 1006 | 1570 | 2494 | 4022 | 6283 | 9816|14137]25120
°IB| 68 | 138 | 211 | 330 | 553 | 845 [ 1319 | 2242 | 3629 | 5890 | 9047|13132(23552
0.0/A[ 102 | 181 | 283 [ 442 [ 724 |1131 | 1767 | 2805 | 4524 | 7069 | 11043| 1590428260
“IB| 76 | 155 | 238 | 371 | 622 | 950 | 1484 | 2523 | 4082 | 6627 |10178|14774 (26496
1 olA[ 113 [ 201 | 314 | 491 | 804 | 1257 [ 1963 | 3117 | 5027 | 7854 | 12271[ 1767131400
""IB| 85 | 173 | 264 | 412 | 691 [1056 | 1649 | 2803 | 4536 | 7363 | 11309 1641529440
FALE A ESR F: AL (N)
P: R 1E RS MPa
F=PXA-f A EESEER Emng

f: EEHERA S (N)

BHEfEmE

Pa kPa MPa bar | mbar kgf/lcm? cmH20 |/mmH20| mmHg | p.s.i.
1 10" 10 10°° 102 | 10.2X10° | 10.2X10° [101.97X10°*| 7.5X10~° | 0.15X10"
10° 1 10° 107 10 102X10° | 10.2 101.97 75 0.15
10° 10° 1 10 10° 10.2 | 10.2X10° [101.97X10°] 7.5X10° | 0.15X10°
10° 10° 1077 1 10° 1.02 | 1.02X10° | 10.2X10° | 750.06 | 145
107 10" 10 107 1 102X10° | 1.02 10.2 075 | 145X10°
98066.5 | 98.07 |98.07X10°| 0.98 | 980.67 1 1000 | 10000 | 73556 | 14.22
98.0665 | 98.07X10|98.07X10° | 0.98X10° [ 0.98 10° 1 10 0.74  [14.22X10°
9.80665 |9.807X10-* | 9.807X10-* | 98.07X10° | 98.07X10°| 10~ 0.1 1 73.56X10° | 1.42X10°
133.32 [133.32X10°[133.32X10° 1.33X10° | 1.33 | 1.36X10° | 1.36 13.6 1 19.34X10°

6894.76 | 6.89 | 6.89X10° [68.95X10°| 68.95 |70.31X10°| 70.31 | 703.07 | 51.71 1

ZF+17%2

CHIAN TAY HYDRAULICS

SIZE

BORE A E F FB FD FF FR FU FX ZF
240 30 |M14X1.5 12 9 9 80 42 100 58 99
@50 35 |M18X1.5 12 9 11 90 50 110 66 105
263 35 |M18X1.5 15 11.5 8 105 59 130 80 116
280 40 |M22X1.5 18 14 13 130 76 160 108 138
2100 40 |[M26X1.5 18 14 14 150 92 180 124 149
ZT+17%2 A
_ 3 _
== : O T O
___________ |________,__,
] g W N
LM LL f I/" I I ! I
! LY+17%2 4-QFB, |‘+’I
SIZE
BOR A E FB LH LL LM LR LS LT LX LY ZT
240 30 [M14X1.5 40 27 13 42 58 3.2 69 138 132
350 35 [M18X1.5 45 27 13 50 66 3.2 78 144 140
263 35 |M18X1.5| 11.5 50 34 16 59 80 4.5 90 166 155
280 40 [M22X1.5 65 44 16 76 100 6 115 204 191
2100| 40 |M26X1.5 75 43 17 92 118 6 134 212 201
o ithit : BAtR=EHEH IR —ER42IR(AILEE)

o
-

T d

HE &R A G

® TEL: 02-29733752, 29725258, 29735107~8
® FAX: 02-29735109
® E-mail: chian.tay@msa.hinet.net



HEGsH) REflnmwgs Mac=HE BREGSH) JEETIAMEEE  cHav 1A HYDRAULCS

. (N HE SRR ET
?FZT\ }it\- 2 EEy
|AIR| [SD] [32][30][ N |[sz2] B B T 9 (mm)
@12~0100 BT GEAEIL) 4 B
B SEEAZRIR D NRSF - WHLF « TEE
| RAFERR 218 ARUES2ART
e e ———— -
SIZE ]
C |@D| EE E1 E2|00FI@G/HICL|L| N=ZF |[LH 4-KEE7) PA|PB| T |0V
BORE
W4 @12 | 1] 6 |M5%08[16.3|23| 5 |11 |5| 3 | 4 | M3X0O5X6E | - |65X45%  BiE043 M5X08XT5E | 65| 6 | - | 25
2744572 SL4iTE @916 |1.5| 6 |M5X0.8/19.8/28| 5 | 11 |55 3 |4 | M3X0O5XGE | - |6.5X45%  EiB04.3 M5X0.8X7 5% 7 |6.5] -] 29
H S+{752 _HL S+i7i2 @20 |15 8 |M5X08/24 | - | 6 | 15 (55| 3 |5 | MAXOTXSE | - |65X45F  BEG43  MsX08XT5E | 75| - | - | 34
- :“f .l C @25 |2 |10|M5%08/28| - | 8 |17 | 6| 3 |5 |M5XO8XI0E| - |9X7:E BiEO5.1+ MBXIXI0F 8 | -1-140
8 8l w
o o ALl B= — @32 |312]|G618(34| - [10]22|7| 3|6 | MeX1X12 |485|9X7 % Bi&G5.1 » MEXIX10E 9| - |14] 44
g 8 (| FE—=F ‘ — :
s ———— @40 |3 116|G1/8(40| - [ 14|28 | 7| 3 |8 [M8X1.25X123F(56.5( 10.5X8F * BiEG6.9 M8X1.25X125% | 10 | - | 14| 52
T =/ D Q @50 |4 |20|c1alas] - [ 1738 |9 3 |11 |woxisxisz 70 [11xe52 EE069 - Mex125x1652 | 10 | - [19] 62
B/ CL @63 | 4(20(G14|60| - {17409 3 |11 |[MI0X1.5x158| 83 [11X85% » EEG6.9 ' MBX1.25X165F | 12 | - |20] 75
PA
P @80 | 5(25(G38|74]| - | 22|45 11| 4 |13 |M14X1.5X203F(102 | 14X10.5% * B&G105 M12X1.75X128| 12.5| - |27 94
QZO, Q25 @100| 5 (30| G3/8[90| - | 27 | 45 |12| 4 |14 |M18X1.5X20:%(122|17.5X13F » B@012.3 M14X2X17E | 17 | - |26]114
, v
SIZE
V1 X Y Z AM | AQ B | HL WheF S ZL | ZZ
BORE
@12 | 32 | 32 6.3 1 10 12 8 | 17 | M5X0.8 27 | 44 | 32
g16 | 38 | 3.2 6.3 1 10 12 8 [17.5| M5X0.8 285 | 46 | 34
320 - 3.2 6.3 1 13 15 10 |20.5| M6X1 295 | 50 | 35
@25 - 4.2 7.8 1 15 17 13 | 23 | M8X1.25 31 54 | 37
@32 - 4.2 7.8 1 15 18 17 | 25 | M10X1.25 | 345 | 59.5 | 41.5
NAEF WAL g40 - 6.2 | 10.3 1.6 25 28 | 22 | 35 | M14X1.5 36 | 71 | 43
Z2Z+17%2 _
y Sﬁf; ZL+{772 350 - 6.2 | 10.8 1.6 25 28 | 26 | 37 | M18X1.5 38 | 75 | 47
. = 1= . +7772
% c STk 763 - 6.2 | 10.8 1.6 25 28 | 26 | 37 | M18X1.5 42 | 79 | 51
w2 PA PA @80 - 82 | 13.8 1.6 30 33 | 32| 44 | M22X1.5 51 95 | 62
L
\ | 2EE @100 - | 102 | 173 2 35 38 | 35 | 50 | M26X1.5 61 | 111 | 73
-9 g A @___ N o il : BILRR=EMmEMIR—Er425R(BALED)
© I = = —— == @ TEL: 02-29733752, 29725258, 29735107~8
@ REENESRDLE i
- ré lﬁEII gA y Ay ® FAX: 02-29735109
LTL Tt -::gi ® E-mail: chian.tay@msa.hinet.net
B F

- 4-K 25 4E “



	未命名的擷取頁面 1
	未命名的擷取頁面 2

